
Monday (Recap) 
 

 

 

 

 

 
 

Now try these missing number problems.   
 

9 - ____  = 3 

 ____ + 30 = 50 

___   - 40 = 30  

45 + ______ = 55 

72 - _____  = 65  

 

I think the missing number is 0.  

       - 40 = 40      
What mistake have I made? The mistake is…  

Use the partitioning method to work out the answer to these questions. 

 

1) 36 + 28 = ______ 

2) 54 – 39 = ______ 

3) 82 – 45 = ______ 

4) 69 + 17 = _______ 

5) 91 – 18 = ________ 

 

 

 

 

 
 

Remember: 
 

Remember:  

_______ + ________ = _______ 

  

 

_______ + ________ + _______ 

_______ + ________ 


